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Q. 1. Give five examples of expressions
yving one variable and having two varfables.
Solution. Expressions having one variable :
() 2x+7 (i) y+8

i) ¥+ 7 (iv) ¥ +3x+5
M ¥ +3y+2

Expressions having two variables :

(i) Txy~8 (i) 3x + 2y
(i) ax +by + ¢ (iv) 8xy2 +5
(v) - Sx+ Txy

Q. 2. Construct :

(i) Three polynomials with only x as
variable

(@) Three binomials with x and y as
variables

(@) Three monomials with x and y as
variables ' |

(iv) Three polynomials with four or more
terms

Solution. ,

(i) Three polynomials with only x as
variable .
(@) x2 - 4x+5 (b) ¥*+3x+5
(c) P+2x%2-3x+5

(i) Three binomials with x and y as

variables

(a) 3x%y + 4xy

(c) S5xy + 8x2y

Three monomials with x and y as

variables

(a) 2xy

(c) 8xy.

Three polynomials with four or more

terms

(@) 2x+ y+z+200

(b) 2x° +5x> +3x+18

(€) 3x2 +4xy+y +y+x+9

AYS &

(b) 9xy + 6xy%
(idi)
(b) - 9xy

(iv)

Q. 3. Write two terms which are like to

@) 7x (i) 3ab

(i) 7x%y (iv) 2Im
Solution.

@) 3x,-5x (ii) 4ab,Tab

(iii) 9x%y,5x7y (iv) 5im,7im
Q. 4. Identify the terms, their coefficients
for each of the following expressions :
(@) 5xy - 3zy
@) 2+ 2x - 3x2
(i) 4x2y? - 4z% + 3xy
()

ab + bc + abc + 7

») % + % + 2XZ \
(vi) 0.3a — 0.5ab

/ 3
(vii) x_2y + 7x +Ey

(viii) 0.4a — 0.6ab + 3b?
(ix) 3xy? + 5xyz — 6y?
Solution. (i) Sxy - 3zy

Term Sxy | - 3zy
Coefficient S -3
(i) 2+2x-32
Term 2 | 2x | =3x2.
|_Coefficient [ 271 2 -3
(i) Axty? - 42 4 34
_____'_l_"g_m?‘ 4x* yz — 422 3xy
Coefficient T4 17=3 13




(iv) ab + be + abe + 7

Term [ ab [ be [ abe [ 7
| Coefficient | 1 [ | | 1 |7

X y
(V) —4+=<+2i2
6
Term = 2x2
6 |6
1 |
Coefficient | — | — 2
6 6
(wi) 0.3a - 0.5ab
Term 0.3a | —0.5ab
Coefficient 03 -0.5
xy 7 2 >
(i) —2—+ X+ 2)
xy 3
T — .7 —
erm > x > y
Coefficient l 7 2
7 2
(viii) 0.4a — 0.6ab + 3b2
Term 0.4a | —0.6ab | 3b>
Coefficient 0.4 —-0.6 o)
(ix) 3xy2 + Sxyz — 6y2
Term 3xy? Sxyz | —6y°
Coefficient 3 5 -6

Q. 5. Classify the following polynomials as
monomials, binomials and trinomials. Which

polynomials do not fit in any of these three
categories ? and why ? ;

(i) 3x (i) y
(ui) 4 (iv) 3x -2y
Y . ;
(v) E+z Vi) x+y+ 22

(vii) 2x -y +7
(ix) xX-y+ 2z
(xi) x2 - y?

iii) a+b +c¢
(x) 14x2yz
(xii) a® + b? + 2,

Solution.

(/) Monomial
(iti) Monomial
(v) Binomial
(vii) Trinomial
(ix) Trinomial
(xi) Binomial

(viii)

(xii)

(i) Monomial
(iv) Binomial
(vi) Trinorhial
Trinorhial
(x) Monomial
Trinondial,

Q. 6. Add the following :

0 ab + a2b — 3abc and dabe — 7a%b + 2ap

+3

(i) x+y+3z-2xyzand -2x +3y + 4z -8

(iii) xz_y2’y2_z2’zz_x2
() x-y,-y+22-X

) 2,.K7-yz_3xy+4and5+7xy—-3:1y2
AT ithe Mo PO Yin Yo AP

Solution.

) ab+ a’b —3abc
+2ab — 7a’b + 4abc + 3

3ab—6a’b+abc +3 Ans.

(ii} x4+ y +3z —2xyz
—2x+3y+4z

-8

—x+4y+7z—2xyz—8 Ans.

| Gin x2—y?

2 2
yr=2z

+22

0+ 0 +0=0 Ans.

@) X =y

=Y ¥z

- X

+ 2

0-2y+2z=-2y4+2; Ans

(v) 2x°y* = 3xy +4
2.2
=37y + Ty +5

‘Xz)'z +4xy+9 Ans.

\ x4yt g

2 2 2
. ot 2 4
(V{) ‘12 +y2 +:2

2
o x* +y? 4,2

|



/

]
(@)
(iiv)

)
»)

(vi)

) %

Subtract

S5x = 3xy + 7

+8 Y+ 18 from 13x - 7xy - gy
2lm + 3mm - g,

130l 80/ from 9m + 7mn +

ab + bc + ¢ 4

a
dadic be from 3ab - 2bc -

ab + be - cd + abe

Solution.

)

(it)

(ur)

(v)

(v)

(vi)

Bx—7xy— 6y +8

Sx=3xy+ 7y +18
e + o -

from -
i 2ab - 2bc + 2cd

8x—4xy — 13y—10 Ans.

9lm + 7mﬁ + 13nl
2lm + 3mn — 8nl
- - +

Tim + 4mn + 21nl Ans.

3ab — 2bc — 4abc
ab + bc + ca+ abc

2ab — 3bc — ca — Sabc

4x —Txyz
2x +3y +4z+3xyz

Ans.

2x—3y—4z—10xyz Ans.

0.7x + 0.8y — 9xyz
0.3x + 0.2y + 2xyz

0.4x +0.6y—11xyz Ans.

2ab — 2bc + 2cd — 2abc
ab + bc —cd + abc
= - + i

ab — 3bc + 3cd — 3abc

Ans.

Q. 8. Subtract the third expression from the
sum of first two expressions.

(@) 28b+bc-cd,abc+ab—2bc,—2bc+
3ab

(i) 2x+3y-27.,x—y+3xyz,4x+3y—4z
+ Txyz

(i) 0.2x + 0.3y + 0.4xy, 0.8x + 0.7y, x + ¥ —
0.6xy ‘

(V) Xy +3x + 2y = 3z, x + y + 22, 4Xy = X —
y +4z

(») 0.3xy + 0.2yz, 0.4xy + 0.3zx, 0.2xy +
0.2yz

(vi) 0.4xyz + 0.3xy2, 0.7xyz + 0.2xy2, xyz +
0.4xy?

Solution. (i) Firstly, add first two terms

/ 2ab + bc — cd
abc + ab — 2bc

abc + 3ab — bc — cd

Now, subtract — 2bc + 3ab from abc + 3ab —
be¢ —cd '

abc + 3ab — bc — cd
3ab — 2bc
- 4+

abc+ 0 +bc—cd

. = abc + bc — c¢d Ans.
(i) Firstly, add first two terms

2x+3y—2z
x—y +3xyz
3x+2y—2z+ 3xyz

Now, subtract 4x + 3y — 47 + Txyz from 3x +

2y — 2z + 3xyz

Ix+2y—-2z + 3xyz
4x +3y—4z + Txyz
_— e + —

TX =Y +2z-4xyz; Ans
(iit) Firstly, add first two terms

0.2x + 03y + 0.4xy
0.8x + 0.7y

1.0x +1.0y +04xy = x + y + 0.4xy



Now, subtract x + y — 0.6xy from x + v + 0.4xy

X+y+04xy
X+ y=0.6ay
- - %

04+0+1.0xy= Xy Ans.

() Firstly, add first two terms
Tay +3x 42y =3;

x4y +2;

Txy+4x+3y—:

Now, Qubtract dxy — x — y + 4z from Txy + 4x
+3y -

Txy+4x+3y—¢
dxy— x —y +4z

3xy +5x+4y—5z Ans.

Firstly, add first two terms

03xy +0.2yz -
0.4xy +0.3zx

)

0.7xy +0.2yz + 0.3zx

Now, subtract 0.2xy + 0.2yz from 0.7xy +
0.2yz + 0.3xx

0.7xy +02yz + 0.3zx
0.2xy +0.2yz

05xy + 0 +03xx

= 0.5xy + 0.3zx Ans.

(vi) Firstly, add first two terms

0.4xyz + 0.3xy”
0.7xyz +0.2xy>

1.1xyz + 0.5xy*

Now, subtract xyz + 0.4xy? from 1.1xyz + 0.5xy?

1.lxyz + O.Sxyz
xyzZ + 0.4X)’2

0.1xyz +0. le_z._ Ans.

Q. 9. If sides of 2 tnangle

2_5x+6,3- 3x2 +7x.¢
expressions, X
+ 8x - 11. Find the Pe"mr"“rh‘ﬂ!-

Solution. Perimeter of triangle = Sum of thre,
sides.

enyy

2 _5x+6
~3x* +7x+3
11x% +8x—11

9x2 +10x—2 Ans. *

Q. 10. Multiple Choice Qne‘io. . =
(/) Identify coefficient of yin7y -5, %

(a) 7 by -5
(c) 5 (d) 12.
(ii) Which of following is a2 monomial 7
(@) Tx+5 (b) x+y+7 .
(@) 3 (d) 5> -Tx+6.
(iif) Identify the binomial.
(@) 5x+2 b) x+x+1
(c) 6z @ i
(iv) Find the trinomial from fol}o'q
expressions.
(@ 5xy-3zy (b) 2x—y+7

(€) x-y+2z+4(d) +3. ;
Out of given expression which are |

(v)

terms ?

(@) 7xand 7y * (b) 3x and 3

(©) @ and 32 (d) 3 +3. ;
(vi) Addition of 2a — b and a — 2b will give

(@ a-b (b) 2a-2b

(¢) 3a-3b (d) a+b.

(vii) What does given diagram W ;A

) A Be——3—>C
(@) x +3 ) 2x+3 8
fc) 2x =% (d) x*+3.

(viii) The expression 3x - 5 is a -
(@) Monomial (b) Binomial o
(¢) Trinomial (d) None of these 4

(ix) Identify the terms in expression ~
Txy.

(@ -5and7 (b) —Sxand 7

(¢) ~5x and 7xy (d) — 5x and T3



. A/()‘d()ab kha b Bl ac - ah
((u)' abc (B) ab + pe 4
¢ ,

. (d) a 4 b ¢

! fl e Wilue of expression 3y -
(@) §
() 15

b 10
(d) 20.

ac

Satx =

(i) (©) 36
(iv) (b)2x =Y +7

2 (vi) (¢)3a~- 31?
(viii) (b) Binomial

Ans, () (a)7
(i) (a) 5x + 2
(v) (¢) x* and 3
(vil) (b) 2x + 3
(ix) (c) - 5x and 7xy
(x) (a) 0 (xi) (b) 10.



